
Spiel 1 Spiel 2 Gesamt

12:14 A 13 Rameder Thomas 44 + 45 = 89

A 18 Puchberger Franz 54 + 51 = 105

12:20 A 14 Hahn Ernst 41 + 50 = 91

A 17 Hintersteiner Hubert 60 + 49 = 109

12:28 A 15 Temper Josef 52 + 43 = 95

A 16 Riegler Klaus 38 + 38 = 76

12:35 A 18 Puchberger Franz 54 + 45 = 99

A 16 Riegler Klaus 38 + 38 = 76

12:41 A 17 Hintersteiner Hubert 46 + 41 = 87

A 15 Temper Josef 46 + 44 = 90

12:47 A 13 Rameder Thomas 48 + 50 = 98

A 14 Hahn Ernst 53 + 52 = 105

12:52 A 14 Hahn Ernst 51 + 64 = 115

A 18 Puchberger Franz 57 + 41 = 98

12:58 A 15 Temper Josef 59 + 50 = 109

A 13 Rameder Thomas 47 + 54 = 101

13:05 A 16 Riegler Klaus 40 + 49 = 89

A 17 Hintersteiner Hubert 43 + 50 = 93

13:11 A 18 Puchberger Franz 48 + 48 = 96

A 17 Hintersteiner Hubert 52 + 47 = 99

13:18 A 13 Rameder Thomas 49 + 49 = 98

A 16 Riegler Klaus 46 + 45 = 91

13:25 A 14 Hahn Ernst 50 + 50 = 100

A 15 Temper Josef 62 + 62 = 124

13:32 A 15 Temper Josef 53 + 50 = 103

A 18 Puchberger Franz 51 + 53 = 104

13:38 A 16 Riegler Klaus 47 + 30 = 77

A 14 Hahn Ernst 52 + 56 = 108

13:45 A 17 Hintersteiner Hubert 53 + 48 = 101

A 13 Rameder Thomas 37 + 57 = 94


